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1. W7 37

Why can't the woman plant the seeds today?

A. The weather is bad. B. No one can help her. C. There is other work for-her.

2. W A1/

When will the woman get to the school gate?
A. At 7:15 am. B. At 7:00 a.m. C. At 6:45 am.

3. W 8
What does the woman mean?

A. She has had enough. B. She wants some more. C. She isn't feeling well.

4. W f37/8

What does the man suggest the woman do?
A. Ask for leave. B. Work in London, C. Have adiffetent holiday.

5. Wy 178
What is the probable relationship between the speakers?

A. Co-workers. B. Parent-and’ child. Ce Teacher and student.

W N SBOY E M B EER LB E A TR, WEHETSERIA. By C =N EH %
HBRAEE . (GRS, /NELSD T 322.55)

6. Wt J1 78
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(6) Wha ' is‘the-fastest biker?

A.JMatt. B. Greg; C. Nat.
(7)’What is the conversation mainly about?

A.A task. B. A route. C. Arace.
7. Wt 1178
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(8) What is wrong with Mr. Flanders?

A. He got a cold. B. He was injured accidentally. C. He needs an operation on his arm.
(9) Who will the speakers be visiting?

A. Their classmate. B. Their neighbor. C. Their grandmother.

(10) What will the speakers bring with them to the hospital?

A. Flowers. B. Fruit. C. Books.

8. W /1/
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